PARTS

K ART

STUB AXLES

FUSELLI

Tav. 19

=
I
)
=
-
=

In vigore dal - Effective from 01-08-2022

42



Rif. STUB AXLES ¥

Description Tax included
A (0092.E0DXKIT +99L MICRO/R Right Micro stub axle with bearings 22,770
A [0092.E0SXKIT +99L MICRO/L Left Micro stub axle with bearings 22,770
B  [0092.00BDXKIT 99 BST/R ROOKIE/DS Right BST stub axle with bearings 26,840
B  0092.00BSXKIT F99) BST/L ROOKIE /D8 Left BST stub axle with bearings 26,840
C [0092.00CDXKIT +990h HST/OK/R Right HST SA2-BSD stub axle with bearings 31,460
C |0092.00CSXKIT Fy9b HST/OK/L Left HST SA2-BSD stub axle with bearings 31,460
C [0092.00CBDXKIT Right HST 1B SA2 stub axle with bearings 0
C [0092.00CBSXKIT Left HST 1B SA2 stub axle with bearings 0
D 0092.00BCLDXKIT +940 MSHL/R ROOKIE EV D.8 Right Mini MSHL stub axle with bearings 26,840
D 10092.00BCLSXKIT +99h MSHL/L ROOKIE EV D.8 Left Mini MSHL stub axle with bearings 26,840
E |0092.BOEDXKIT +990 BSS/HST/KZ/R Right BSS KZ stub axle with bearings 39,930
E |0092.BOESXKIT +99h BSS/HST/KZ/L Left BSS KZ stub axle with bearings 39,930
E 0092.BOEBDXKIT Right 1B BSS stub axle with bearings 0
E (0092.BOEBSXKIT Left 1B BSS stub axle with bearings 0
F 10019.00 F99MA’TYYY" D.8X22 (60822) Stub axle bearing @ 8x22 mm 462
G (0019.A0 F99ATYYY" D.10X26 (60002Z) Stub axle bearing @ 10x26 mm 682
H ]0020.00 FYINATYVY AA—H— BST Bearing spacer for @ 8x24 mm stub axle 1,210
I [0020.C0 FYINNTYIY RA—Y— HST Bearing spacer for @ 10 mm stub axle 1,210
J 0021.00 HAWAAN—F— @ 17/5mm BST wheel spacer 5 mm 649
K ]0022.00 HINVAAN %= ¢ 17/10mm BST wheel spacer 10 mm 880
L ([0021.CO HAWAA == S5mm HST HST wheel spacer 5 mm 671
M |0022.CO H4WAA—4— 15mm HST HST wheel spacer 15 mm 946
N [0023.D0 FYINIVE TyY%— HST Locking spacer for HST stub axle 792
0 [D.M14X1,5 F990FvEM14X1.5 A.B. nut M14x1,5 mm 132
P |0021.A0 HINVAAN == ¢ 17/5mm/ Al BST Radiate wheel spacer 5 mm 759
Q [0021.CA FAVRT V—$F (AIAA—H— BSS/2BG 1mm HST wheel spacer 1 mm for 2 bearings BSS disk hub 1,430
R [0022.CA H4WAA—%— 10mm HST BSS wheel spacer 10 mm 946
S  |0092.00KIT F9INTHATYYaAV T L—b KIT Kit extension stub axle's plate 11,660




